
Β ΛΥΚΕΙΟΥ ΑΛΓΕΒΡΑ 
 

28.1 

1)   α)   2log 8   ο εκθέτης που πρέπει να υψωθεί ο 2 για να κάνει 8    3     (διότι 32 8 ) 

β)   3

1
log

9
 ο εκθέτης που πρέπει να υψωθεί ο 3 για να κάνει 

1
2

9
      (διότι 2 1

3
9

  ) 

γ)   
5 4

1
log

5
 ο εκθέτης που πρέπει να υψωθεί ο 5 για να κάνει 

4

1 1

45
      (διότι 

1

4

4

1
5

5



 ) 

δ)   7log 1  ο εκθέτης που πρέπει να υψωθεί ο 7 για να κάνει 1 0     (διότι 07 1 ) 

ε)   log1000  ο εκθέτης που πρέπει να υψωθεί ο 10 για να κάνει 1000 3     (διότι 310 1000 ) 
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